Longest Palindromic Substring

Given a string s, find the longest palindromic substring in s. You may assume that the maximum length of s is 1000.

Example 1:
I nput: "babad"
Qut put: "bab"

Note: "aba" is also a valid answer.

Example 2:
I nput: "cbbd"
Qut put: "bb"

Solution 1 in C++



#i ncl ude <i ostrean
#i ncl ude <al gorithne

usi ng nanespace std;

class Solution {
public:
string | ongestPalindrome(string s) {
int str_len = s.length();
string nyPalindrone;
string ret;
int currentPalindroneLen;

int str_remaining=str_|len;
for(int i=0; i<str_len; i++)

{
nyPal i ndrone="";
current Pal i ndr oneLen=0;
for(int j=i; j<str_len; j++)
{
nyPal i ndrome += s[j];
current Pal i ndr oneLen++;
int idx1=0, idx2=currentPalindromeLen-1,
whi | e(i dx1<i dx2)
{
if (myPalindrone[idxl]!=nyPalindrone[idx2]) break;
i dx1++;
i dx2--;
}
if (idx1>=idx2)
{
if (nyPalindrone.length()>=ret.length()) ret = nyPalindrome;
}
}
str_renaining--;
if (str_remaining<ret.length()) break;
}
return ret;
}
}
int main(void)
{
Sol ution s;
string testcasel = "babad"; // the answer should be "bab" or "aba"
cout << testcasel << " ->" << s.|ongestPalindronme(testcasel) << endl;
string testcase2 = "cbbhd"; // the answer should be "bb"
cout << testcase2 << " -> " << s.|ongestPalindronme(testcase2) << endl;
}

Solution 2 in Java - Time Complexity = O(n"2)



public String | ongestPalindrone(String s) {

}

private int expandAroundCenter(String s,

if (s =null || s.length() < 1)
int start = 0, end = 0;
for (int i =0; i <s.length(); i++) {
int 1enl = expandAroundCenter(s, i, i);
int en2 = expandAroundCenter(s, i, i + 1);
int len = Math. max(lenl, len2);
if (len >end - start) {
start (len - 1) / 2;
end =i +len/ 2

return

}
}

return s.substring(start, end + 1);

int left,
int L =1left, R=right;
while (L >= 0 & R < s.length() && s.charAt(L)
L--;
R++;
}

return R- L - 1;

int right) {

== s.charAt (R)) {
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